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QUESTION 1

Which of the following statements is TRUE when the Alcatel-Lucent 7750 MG receives a GTP packet that has a valid
TEID?

A. The ingress IOM forwards the packet directly to the MG-ISM module for further processing.

B. The ingress IOM drops the packet.

C. The ingress IOM forwards the packet to the CPM for further processing.

D. The Alcatel-Lucent 7750 MG forwards the packet to its IP destination by looking into the local IP routing table.
E. None of the above answers are correct.

Correct Answer: A

QUESTION 2

Which of the following statements is FALSE regarding the EPS bearers?
A. An EPS bearer is either a GBR bearer or a Non-GBR bearer.

B. An EPS bearer is either a default bearer or a dedicated bearer.

C. A dedicated bearer can be a GBR or a Non-GBR bearer.

D. A default bearer can be a GBR or a Non-GBR bearer.

E. A UE can have multiple GBR or Non-GBR bearers.

Correct Answer: D

QUESTION 3

Assume that dynamic PCC rules are used on the PGW. When the UE sends a request to establish a dedicated bearer,
which of the following messages are exchanged between the PCRF and the PCEF?

A. The RAR/RAA messages.

B. The CSR/CSResp messages.

C. The CCR/CCA messages.

D. The CSR/CSResp and the CCR/CCA messages.
E. The CSR/CSResp and the RAR/RAA messages

Correct Answer: C
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QUESTION 4

How many S11 GTP-C tunnels are established for a UE having:

One default bearer to APN1, and

One dedicated bearer to APN1, and

One default bearer to APN2, and

Two dedicated bearers to APN2?
A.

One

Two

Three

Four
E.
Five

Correct Answer: A

QUESTION 5

Which of the following statements is FALSE regarding the configuration of Key Performance Indicator/Key Capacity
Indicator (KPI/KCI) on an Alcatel-Lucent 7750 MG?

A. The mobile-gateway instance must be shutdown before enabling the stats collection
B. A log file must be configured.
C. An accounting policy must be configured.

D. Only one record can be configured in a policy.
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E. Only one policy can be assigned to a serving/pdn instance.
F. None of the above statements are false.

Correct Answer: F
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